Given: AM = CP, Cis the midpoint of AG, AM = CP

pProve: AACM= ACGP G




22> >4

GiVeNn: YX = XZ WX bisects ZYXZ

Prove: Awyx= AWIX




GiVen: S is the midpoint of RT, PR = PT

Prove: APRS= APTS




D> >>> 4

GiVeNn: Eis the midpoint of AB, Eis the midpoint of CD

Prove: AAEC = ABED

A D




D> >4

Given: Risthe midpoint of QS, ZRPQ = ZRTS

Prove: APQR= ATSR




R

Given: /A=/E BC=DC

Prove: AABC = ADEC

A D




GiVeNn: FH =FJ, HF = JG, Fis the midpoint of EG

Prove: /eFH= LFGJ




2> >>> 4

Given: PL:=[M, QL bisects ZPLM

prove: /i=/2




2>>>>> 4

Given: AB=DC, £2= /4

prove: /A= /C




2O>>>> 4

Given: PL =ML, Qis the midpoint of PM

prove: /3= /4




